DIVISION WITH A REMAINDER (H - SET 3)

DIVISION WITH 5 Nane:
Time: Score: y—
51) 4919 = 5 = 16) 1925 +5 =
32) 267 = 5 = 1 AT+ 5 =
33) 4286 = 5 = 48) 1050 =5 =
39 3732 =5 = 19) 1943 =5 =
35) 2810 = 5 = 500 3404 =5 =
356) 4900 = 5 = o) 3123 =5 =
57 4791 = 5 = 52) 2605 =5 =
38) 4397 = 5 = 3 1981 =5 =
39) 4357 = 5§ = ) 4413 =5 =
10) 2931 = 5 = ) 1488 + 5 =
1) 1529 = 5 = 56) 1163 + 5 =
12) 903 =5 = 1) 2737 +5 =
13) 2833 = 5 = %) 3375 =5 =
1) 2990 = 5 = 59) 2974 +5 =
15) 1157 =5 = 60) 4481 + 5 =

Mathematics: Division - Level 7 - Horizontal - Set 3
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